EHES 16-12-23-021
EiERaF PERARES
B - 8- Re| LRBL - ZEER
BE  EBEREE

EE@H O0m

FERS

FHIRE

FHEH

B o#a




WIER BERIGERER
% # s - BRHE s E i & & W E

EENER 4,849, 221
ERE 3,368,171 x 74.3% — 1,772 2,500, 779
AEREER 4,849,221 + 2,500,779 7,350, 000
BRI 7,250,350 + 29,376 7,279,726
EEAGE 7,250, 350
EEEE 29, 376
Z Ot R A 7,250,350 x 53.85% ( 35% + (1 — 35%) ) 3,904,313
KB RE 7,279,726 + 3,904,313 11,184,039
—REEEE 11,184,039 x 53.85% ( 35% + (1 — 35%) ) — 6,644 6,015, 961
AEREE 11,184,039 + 6,015, 961 17, 200, 000
A ERBE 7,350,000 + 17, 200, 000 24,550, 000
HEGEHRLE 24,550,000 x 10.00% 2,455,000
AEEBE 24,550,000 + 2,455,000 27,005, 000




. £BFE) (%)

s

BERNRE B A BSEER
£ [ I - KT By £ fili £ % W =
BEEIEE 12,128, 947
KBRIEREER 12,128, 947
RIERE 12,128, 947
BEE 11, 900, 475
HEEE L 414,550
1 EtE#{E 1.00 414, 550 414, 550
=®
AT 220, 665
2 TEBEERE VAV) B+E) 1.00 103, 215 103, 215
=®
3 FRiBEEAE (BEXRRAE) O+ 30. 00 3,915 117, 450
*) 5
KERE 135, 600
4 KBRAE W E) 3.00 33, 250 99, 750
s
5 & (OKHE) 1.00 35, 850 35, 850
=
EERE 1,348,377
6 EERWMEMERST (BWE. 28% 30. 00 3,325 99, 750
2) %) Hh 5
i
7 EEFEREERS T HEMERK. pH. 10.00 10, 460 104, 600
ORP, BB EM) (41%) e
8 EERMEMERST (BHWE. HEM 13.00 5,115 66, 495




HEEWERE il RIS B S
& b g - BRTE By = fill & % W OE

9 DIE (EH) 1.00 612, 550 612, 550
E2

10 FEMKERZE (413%) 21.00 10,192 214,032
th 2

A EAGIYS) 1.00 250, 950 250, 950
=

FREMRE 459, 995

12 £HEERE G E) 7.00 15,785 110, 495
th 2

13 EMERRE N E) 1.00 349, 500 349, 500
=

7Y URE 1,193,985

14 7H1)REE 51 %) 51.00 19, 500 994, 500
th 2

15 7HUESAE N E) 39.00 5115 199, 485
Hh

BESMAE 196, 994

16 7RENGRAE W E) 1.00 196, 994 196, 994
=

AAHARY FRERE 193, 181

17 7IEASFEHEE W) 1.00 193, 181 193, 181
=

N RAE 46, 750

18 HHARE (51%) 1.00 46, 750 46, 750
E2

ALTRATZ (GEBR. B#E. 85) 1,553,578




BERNRE B A BSEER
£ E71 R - BksHiE BAfL £ {if ) =
19 RAKDKERE 5+ %) 3.00 6, 650 19, 950
s
20 ERBEATBOEERM/KDKER 3.00 15, 660 46, 980
-0 9) b
th =
21 BEHROEBEREKOKERE 5 3.00 15, 660 46, 980
%)
Hh
22 BEMROESRBBKDKERAE 4 12.00 9,787 117, 444
*) o 5
23 2 & (k&) 1.00 270, 750 270, 750
=
24 BEMROBWE (51 F) 4.00 1,957 7,828
Hh
25 BEHMROBWE (51 %) 4.00 1,957 7,828
s
26 EREBATBOEERRE RS ( 1.00 7,830 7,830
SEMER. TN, TP) (b %) e
27 BEMROEERREERS T EE 4.00 3,915 15, 660
#HAk. TN, TP) (543 .
28 EEHMROEERREEKI T GEE 4.00 3,915 15, 660
A, TN, TP) (51%) =
i
29 SRBATBOEERRE RS ( 2.00 7,830 15, 660
2BFRE) G H) s
0 BEMROEERIMEERIT (2R 8.00 3,915 31,320
x2) %) .
3 EEHMROEERRE KT (£E 8.00 3,915 31,320
%E) %) .
i
32 NE (EE) 1.00 310, 950 310, 950
=®
B EREEBATROTHIEZAE G £ 3.00 7,830 23, 490
) S
M EEHMROTHYBESZAE 41 F) 12.00 5,872 70, 464

bl




BEARRE B RIS IBIE
2 o 1B - BIkHsE Bify ) i i =

3/ EEMROTHUESHAE ) 12. 00 5,872 70, 464
#h25

36 FEEMEERE (ME) 1.00 349, 500 349, 500
=

31 BEMROHHEARE B %) 1.00 46, 750 46, 750
=

38 BEMROHHARE 4 %) 1.00 46, 750 46, 750
=

BREYELED 841,500

9 HREVFLH (RFE) 1.00 4,841,500 , 841,500
=

SHREERAE 325, 400

40 FMEERE 2.00 162, 700 325, 400
G}

& - |E 325, 400

41 & - |E 4.00 81, 350 325, 400
G}

MEZSER 644, 500

42 SREEER 1.00 644, 500 644, 500
%

EHiERE 228,472

RE 197,472

43 1B GRETEH) 1.00 29,376 29,376
=

44 1RE CAEXH) 1.00 168, 096 168, 096




BERNRE

BEABERER
% [ Btk - AR B g B i i) m =
S 31,000
45 EHBHRR 1.00 31, 000 31,000
=




RIS - T S — R A ERATE
&5 1
& ETEEE 1By (1)
4 b g - BRKTE By 2 B & # W = 5 &
F T EED (BRED)
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.50 55, 200. 00 82,800
HEm (B)
A 1.50 45, 300. 00 67, 950
HEm (C)
A 3.00 35, 600. 00 106, 800
HifTg
A 3.00 31, 600. 00 94, 800
& R fEEEEH - 1.00K 414, 550. 00 414, 550
&5 .2
&% TEBEHAE (VAV) tF) 1%y (1K)
4 b g - BRKTE By 2 B & # =B 5 &
UAV
B 1.00 20, 000. 00 20, 000
BIEHED
A 1.00 44,000. 00 44,000
B2 H A
A 1.00 34, 300. 00 34,300
MM FEEDY
% 5.00 98, 300. 00 4,915
& R fEEfEH - 1.00K 103, 215. 00 103, 215
&5 :3
&% TRithBESHAE (BEXHRAE) %) 10thm (12) &Y (10# =)
4 b g - BRKTE By 2 B & # =B 5 &
B = HEm
A 0.50 44, 000. 00 22,000
B E H A
A 0.50 34, 300. 00 17,150
& &t YEZEEH - 10. 00t & 3,915.00 39, 150




KRR BT/ \vr— REABBEERE
BS 4
& KEREGH) 1Ry (1A)
% g B - KT B = fiff £ S w &
B 2 B Em A
A 0.50 34, 300. 00 17,150
WEHT
A 0.50 32, 200. 00 16,100
= &t YEEBED - 1. 00t 33, 250. 00 33, 250
5:5
% g B - KT B = fiff £ S w &
DIN
iR 3.00 9, 050. 00 27,150
P04-P
LS 3.00 2,900. 00 8,700
= i EEHESD - 1.00K 35, 850. 00 35, 850
ES:6
&% BEERREMRST (BRE, £8FE) M%) 10 (1) HY (10#15)
% g B - KT B = fiff £ S w &
B 2 B Em A
A 0.50 34, 300. 00 17,150
WEHT
A 0.50 32, 200. 00 16, 100
= &t 1YEXEEH : 10. 004k = 3,325.00 33, 250




REK-FET/ Svr—o BEABSEBERE

&5 :1
£ EERIREMERSHT GEEMEMK. pH. ORP, #MEFE i) (K1) 10#hm (1) &Y (10t )
4 b R - K& BAGL H = B & # IS 5 &
B = HEm
A 0.50 44,000. 00 22,000
B E H A
A 1.00 34, 300. 00 34, 300
BEBF
A 1.50 32, 200. 00 48, 300
& it YEZ8EH - 10. 00t 5 10, 460. 00 104, 600
&5 :8
2 EERIREERS T (BHE. HEMAK. £268F=2) %) Bim (1) HY (13th=)
% E R - BRTE B #H =2 B € & = i &
B2 H A
A 1.00 34, 300. 00 34,300
BIEBF
A 1.00 32, 200. 00 32, 200
& &t YEZEfEH - 13.00th & 5,115.00 66, 500




RER-TEIT/ Svr—o BEABSEBERE
=)
B HHE (EH) 1%y (15)
2 # 1B - IR Bif % B fi %8 w = " =

pH

®RiR 10. 00 575. 00 5, 750
ORP

B®IK 10. 00 925.00 9,250
HE R

®RiR 23.00 8, 700. 00 200, 100
B

B®IK 10. 00 2,750.00 27,500
2RI

®RiR 10. 00 3, 800. 00 38, 000
TN

B®IK 10. 00 4, 750. 00 47,500
TP

®RiR 10. 00 4,150. 00 41, 500
e@FSEHOO0Tq)la, FFTA4FY
) ®RiK 43.00 5,650. 00 242,950
& it E%8EH - 1.00K 612, 550. 00 612, 550
5 :10
L% RIRKAZ (%) THA (1) MY (THE)

% o B - AR Bfy % B fi % W = w =

IR

A 0.50 44, 000. 00 22,000
B & BT

A 0.50 34, 300. 00 17,150
AEHT

A 1.00 32, 200. 00 32, 200
& it {EZREH - 7.00th 5 10, 192. 00 71, 350




RER-TEIT/ Svr—o BEABSEBERE
B#5: 1
B B (R 1%y (15)
% o B - IR Bify 8 B B %8 w = w =
DIN
®RiR 21.00 9, 050. 00 190, 050
P04-P
®RiK 21.00 2,900. 00 60, 900
& B E%8EH - 1.00K 250, 950. 00 250, 950
H5:12
L EMTEERE G L) A1) NY (Ta)
% o B - IR Bify 8 B B % W = w =
3B 8 BT
A 1.00 44, 000. 00 44,000
AEREFB
A 1.00 34, 300. 00 34, 300
AEHT
A 1.00 32, 200. 00 32, 200
& it {EZREH - 7.00th 5 15, 785. 00 110, 500
&HE5 13
L% . EMERASE HL) EE)
% o 1B - IR Bif % B B e w = " =
HEm (B)
A 3.00 45, 300. 00 135, 900
HEF (C)
A 6. 00 35, 600. 00 213, 600
& it {E¥8:H - 1.00K 349, 500. 00 349,500




RER-TEIT/ Svr—o BEABSEBERE
E5 14
LF  FHUREGLE) 1785 (1) B Y (17#5)
% o B - AR B g fi %8 w = w =
IR
A 3.00 44,000. 00 132, 000
B8 BT
A 3.00 34, 300. 00 102, 900
AEHT
A 3.00 32, 200. 00 96, 600
& it YEZ8EH - 17.00th 25 19, 500. 00 331, 500
HE5: 15
&% THUBBEE (ML) 13885 (1) 4 Y (138 5)
2 # 1B - AR By g fi %8 = " =
B & BT
A 1.00 34, 300. 00 34, 300
AEHT
A 1.00 32, 200. 00 32,200
& it YEZ8EH - 13.00th 25 5,115.00 66, 500




KA - BT/ Sl — REAEBRATE
S 16
BF: TIYEDTHRAE 9% 1X5Y
2 L I - BRTiE B = B i %8 5 &
BIEM FRP D 70PSZE!
=] 0.50 71,875.00 35, 937 8H
B8 RIER 1AM 200kHz
B 0.50 5,610.00 2,805
REERM FRP D 180PSZ!
=] 0.50 97, 280. 00 48, 640 8H
BIEHED
A 0.50 44, 000. 00 22,000
B = AT
A 0.50 34, 300. 00 17,150
AEBF
A 0.50 32, 200. 00 16, 100
BKE(FA/3—) 10mK 55
A 1.00 50, 500. 00 50, 500
MM £HD%
% 2.00 193, 132. 00 3,862
& R fEEEEH - 1.00K 196, 994. 00 196, 994
5 17
2 TIESMEAE 4% IEED)
2 [ I - BKkTiE B = B i %8 5 &
AE M FRP D 70PSZ!
=] 0.50 71,875.00 35, 937 8H
REERM FRP D 180PSZ!
B 0.50 97, 280. 00 48, 640 8H
BIEHED
A 0.50 44,000. 00 22,000
B = AT
A 0.50 34, 300. 00 17,150
AEBF
A 0.50 32, 200. 00 16, 100
BKE(FA/3—) 10mK 55
A 1.00 50, 500. 00 50, 500
MM £HD%
% 1.50 190, 327. 00 2,854
& R YEEBEH : 1.00 193, 181. 00 193, 181




REK-FET/ Svr—o BEABSEBERE

H5:18
2 HIMARAE 1) 1Y
% L A - kTiE B H = B {f & el = i &
B = AT
A 0.50 34, 300. 00 17,150
HEBF
A 0.50 32, 200. 00 16, 100
BIEWHEE
A 0.50 27, 000. 00 13,500
& it YE¥REH : 1.00 46, 750. 00 46, 750
S5 : 19
BFR: RAKDKERE 91 %) e (1) HY (=)
% L R - kTiE B H = B {f & el = i &
B E H A
A 0.10 34, 300. 00 3,430
BIZBF
A 0.10 32, 200. 00 3,220
& it YE¥8EH - 1.00h A 6, 650. 00 6, 650
S :20
2% e REERATROEEMBKDOKERE 9 %) MR (1F) HY (=)
% L A - kTiE B H = B {f & el = i &
BIEHED
A 0.20 44,000. 00 8, 800
B = AT
A 0.20 34, 300. 00 6, 860
& it YE¥8EH - 1.00h A 15, 660. 00 15, 660




REK-FET/ Svr—o BEABSEBERE

5 : 2
2% BEHROEZERBKDKERE G+F) IR (1) &Y (1R
% L R - MK B % B B @ ® # B = " %
A E AR
A 0.20 44, 000. 00 8, 800
pelh=gs 4k
A 0.20 34, 300. 00 6, 860
a &t YERES - 1.00M8 = 15, 660. 00 15, 660
S :22
2% BEEROEZERBKDKERE G+F) Mhm (1) 5Y (4hm)
% L R - BIKSTiE B % B B @ ® # B = w %
pelh=#53:01
A 0.50 44, 000. 00 22,000
pelh=gs -k
A 0.50 34, 300. 00 17,150
a &t YERES - 4.0048 = 9, 787.00 39, 150
=:23
% L R - MK B % B B @ ® # B = " %
N
AL 3.00 3, 550. 00 10, 650
DIN
BIX 21.00 9, 050. 00 190, 050
TP
AL 3.00 3, 050. 00 9,150
P04-P
BIX 21.00 2,900. 00 60, 900
a B EEBED - 1.00= 270, 750. 00 270, 750




RER-TEIT/ Svr—o BEABSEBERE
BE5 24
L7 BEMEOBLE (92 AE (1) MY (4is)
2 # B - AR B g fi %8 o= w =
IR
A 0.10 44,000. 00 4,400
B8 BT
A 0.10 34, 300. 00 3,430
& it YE¥8EH - 4.00h 5 1,957.00 7,830
&5 :25
2% BEMEOBEDE (4L AE (1) MY (4ihs)
£ # I - AR B g i S = w =
B8 D
A 0.10 44,000. 00 4,400
RS
A 0.10 34, 300. 00 3,430
& it {EZREH - 4.00th s 1,957.00 7,830
&5 :26
2% SRAATEOEZIRRE WK GEEMR. TN, TP) (%) s (1) By (1#8)
2 # 1B - AR By g fi %8 = " =
B8 D
A 0.10 44,000. 00 4,400
RS
A 0.10 34, 300. 00 3,430
& it YEZREH - 1.00th s 7, 830. 00 7,830
&5 21
LT BEHEOEERRE KON GREMERK. TN, TP) (5h%) AE (1) MY (4iE)
2 # 1B - AR By g fi %8 = " =
B8 D
A 0.20 44,000. 00 8, 800
RS
A 0.20 34, 300. 00 6, 860
& it {EXREH - 4.00th s 3,915.00 15, 660

10




RAER BT/ S — REAEBRATE
H5:28
&% BEMEROKEERRE KRS H GREMARE. TN, TP) (44 %) Ahm (12) HY ()
2 L I - BRTiE B = il %8 W = 5 &
B2 AR
A 0.20 44, 000. 00 8, 800
B E H A
A 0.20 34, 300. 00 6, 860
= &t YEXHBESN : 4. 004 = 3,915.00 15, 660
5 : 29
2% BREEBATROREFRIREERA T (EBEBFRE) OHF) e (1) HY (1Hhs)
2 L I - KT B = il %8 W = 5 &
B2 AR
A 0.10 44,000. 00 4, 400
B E H A
A 0.10 34, 300. 00 3,430
& &t YEZXBESD : 1.004h = 7,830.00 7,830
S :30
A BEMEROREEERREERKRIT (ERRE) M F) Ahm (13) HY ()
2 L I - BRTiE B = il %8 W = 5 &
B2 AR
A 0.20 44,000. 00 8, 800
B E H A
A 0.20 34, 300. 00 6, 860
& &t YEXHBESN : 4.004h = 3,915.00 15, 660
5 : 31
4% EEMEROKEEEREERIT (ERRE) W F) Ahm (13) HY ()
2 [ K - BKTiE B = il %8 W = 5 &
BIEHED
A 0.20 44,000. 00 8, 800
B = AT
A 0.20 34, 300. 00 6, 860
& it YE¥£8EH - 400t 5 3,915.00 15, 660

11




Ri\EER-BI/vr—2 REAEBEEAS
EF5:32
£H . SR (EH) = UIGE)
% # it - Rk B 8 C # m o= " =
HERAR
BIR 9.00 8, 700. 00 78, 300
N
E4L 9.00 4, 750. 00 42,750
TP
BIR 9.00 4,150. 00 37, 350
£BFE(YVOATq)a, TxXT4F>
E4L 27.00 5, 650. 00 152, 550
a &t E%8ES - 1.00X 310, 950. 00 310, 950
5 :33
£H  BRAXRTROTYHUBSHE (1) B (1) 219 ()
% # i - T E B g i i m = %
A ERE
A 0.10 44, 000. 00 4,400
AR R
A 0.10 34, 300. 00 3,430
a &t YERES - 1.00M8 = 7, 830. 00 7,830
EF5:34
£ BEREOT YU BSHE 91 E) MpE (%) HY (4bH)
% # i - Tk B g B i m = %
A E R
A 0.30 44, 000. 00 13, 200
AR R
A 0.30 34, 300. 00 10, 290
a &t YERES - 4.0048 = 5,872. 00 23,490

12




RATSE - M T o — Rl ER AR
H5:35
2% BEHMROTHEZAE 91 F) AR (1) &Y (4 R)
4 g R - KT By 2 B i £ W = 5 &=
B2 AR
A 0.30 44, 000. 00 13, 200
Pl 10k
A 0.30 34, 300. 00 10, 290
= &t YEXHBESN : 4. 004 = 5,872.00 23,490
=5 :36
2% TREYEHRE 0+ E) IEEP,
4 g R - KT By 2 B i £ W = 5 &=
A& (B)
A 3.00 45,300. 00 135, 900
AR (C)
A 6.00 35, 600. 00 213, 600
= &t YEEBEH : 1.00 349, 500. 00 349,500
&5 : 37
2 BEMEROYNHARE 1) 1XzyY
4 g R - KT By 2 B i £ W = 5 &=
B = AT
A 0.50 34, 300. 00 17,150
RIEBNF
A 0.50 32, 200. 00 16,100
BIEWENE
A 0.50 27, 000. 00 13,500
& H YE¥REH : 1.00 46, 750. 00 46, 750

13




RS- BT/ S — REABERERE
ES:38
&% BEMROLHARE (4% IEED)
2 L R - KT By B E B i %8 5 &
B = AT
A 0.50 34, 300. 00 17,150
HEBF
A 0.50 32, 200. 00 16, 100
BIEWHEE
A 0.50 27, 000. 00 13, 500
& H YE¥REH : 1.00 46, 750. 00 46, 750
&H5 39
B BEREYE LD (RE) 1Y
% L R - kTiE By H = B {f B i &
F AR GRED
A 5.00 62, 200. 00 311, 000
HEm (A)
A 10. 00 55, 200. 00 552,000
A& (B)
A 25.00 45, 300. 00 1,132, 500
HEm (C)
A 40. 00 35, 600. 00 1, 424, 000
BT &
A 45.00 31, 600. 00 1,422,000
& B YE¥REH : 1.00 4,841, 500. 00 4,841,500
ES 40
2% . SERAE HEED)
% L R - kTiE By H = B {f B i &
F T HED BRED)
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
HEm (B)
A 1.00 45, 300. 00 45,300
= &t YEZ8EH : 1.00[= 162, 700. 00 162, 700

14




RER-TEIT/ Svr—o BEABSEBERE
BH5: 4
&F: HE - |E HEED)
% b R - BIKTiE =-¥ivd = B M ) B = B =
F AR (B&ED)
A 0.50 62, 200. 00 31,100
HEm (A)
A 0. 50 55, 200. 00 27, 600
BEm (B)
A 0.50 45, 300. 00 22, 650
& & VE%EES - 1. 00 81, 350. 00 81, 350
BE 42
B MEEER 1%y
£ 7 Bk - BIKT R £ £ B F] T S
EE A GRED
A 1.00 62, 200. 00 62, 200
BEm (A)
A 2.00 55, 200. 00 110, 400
HEm (B)
A 3.00 45, 300. 00 135, 900
BEm (C)
A 5. 00 35, 600. 00 178, 000
Hift&
A 5.00 31, 600. 00 158, 000
& F VERES - 1,00k 644, 500. 00 644, 500
BES 43
B RE GRETER) X4y
% b R - BIKTiE =-¥ivd = B M ) B = B =
TEE SA RNy 2L
= 9. 00 3, 264. 00 29,376 2.00H / 8H
& F VEgEES - 1.00=k 29, 376. 00 29, 376

15




Rffik -/ \v7r—o

BERGERERE

EE 44
2 RE GRE%) 1Y
4 L R - KT By 2 il %8 5 &=
REE 54 kN2 2L
H 51.50 3,264.00 168, 096
& B YE¥REH : 1.00 168, 096. 00 168, 096
HE 45
2 EBRRSR 1Y
% L R - kTiE By = il B i &
(B RRE
= 1.00 31, 000. 00 31,000
= &t 31, 000. 00 31,000




Bl Rl RIS BEEAE
HfiRES : 1
BifiR4H  AEM FRP D 70PSH 1824y 8H
£ M Mg - BRTE Bifig £ fif # wm = w® =
A
L 44.00 93. 50 4,114
=R E
A 1.20 21, 600. 00 33,120 B=1.20
B (EM FRPEL) D 70PSE! 3.06T
= 1.00 3,200. 00 3,200 Eiz B
¥ (GEM FRPEL]) D 70PSE 3.0GT
B 1.65 3,350. 00 5,527 a=1.65 A
RGEEE
% 25.36 45, 961. 00 11, 655
—REER
% 24.75 57, 616. 00 14, 259
& &t 71,875
HfiRES : 2
BfRAH  RLERM FRP D 180PSE! 8
% # Mg - IR Bifr £ i # = ® &
A
L 37.00 93. 50 3,459
=R E
A 1.20 21, 600. 00 33,120 B=1.20
BH (@M FRPEL]) D 180PSE! 10.0GT
= 1.00 9, 390. 00 9,390 Eiz B
¥ (EM FRPEL) D 180PSE! 10.0GT
B 1.65 9, 840. 00 16,236 o/=1.65 A
RGEEE
% 25.36 62, 205. 00 15,775
—REER
% 24.75 71.980. 00 19, 300
& &t 97,280




Bl

EERGBRERE
HBifiRES : 3
HMREH : XEE S4 2 2L 1H%Y 2.00H / 8H
£ L g - BRTE BAGL 2 B @ £ it w5 &
VP
L 6.00 148. 00 888
B (54 bV [ZHERE]) FHEEALIE HRE2.0L
BF 2.00 290. 00 580 B
BE (54 N[ ZEHERE]) FHEBM HR=E2.0L
B 1.19 1,510. 00 1,796 #AA
& it 3,264




